1.
An increase in ______ decreases the quantity of money people want to hold.

(A) the price level  (B) real GDP (C) the interest rate (D) the quantity of money

2.
A country that has a comparative advantage in producing capital goods will ________ a country that has a comparative advantage in consumption goods. 

(A) reap all of the gains from trade when it trades with

(B) grow slower than

(C) reap fewer of the gains from trade when it trades with

(D) specialize in producing capital goods and trade with

3.
If Bank A holds $200 in reserves, deposits are $1000, and the desired reserve ratio is 15 percent, how much are excess reserves?

(A) zero, because banks never hold excess reserves

(B) $200  (C) $50  (D) $150

4.
If the demand curve for bottled water shifts rightward and the supply curve of bottled water shifts leftward, the equilibrium

(A) price of bottled water definitely increases.

(B) price of bottled water definitely decreases.

(C) quantity of bottled water definitely increases.

(D) quantity of bottled water definitely decreases.

5.
A negative value for the cross elasticity of demand between two goods indicates that

(A) the goods are complements.         (B) the goods are substitutes.

(C) one of the goods is normal and the other is inferior.
(D) each good is price inelastic.
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6.
The above figure illustrates the marginal social benefit and marginal social cost for chicken sandwiches. If the quantity is decreased from 6 to 3 and the price increases from $3 to $4, consumer surplus will decrease by

(A) $1.50.   (B) $2.00.   (C) $3.00.   (D) $4.50.

7.
When a government has a budget surplus, the surplus

(A) helps finance investment.     (B) crowds-out private saving.

(C) must be subtracted from private saving to get total saving.

(D) increases the world real interest rate.

8.
Tariffs and import quotas both result in

(A) lower levels of domestic production.   
(B) the domestic government gaining revenue.

(C) lower levels of imports.

(D) higher levels of domestic consumption.

9.
Classical growth theory argues that when real GDP per person rises above the subsistence level,
(A) technological change slows down, stagnating the economy.

(B) population growth increases, driving real GDP per person back to subsistence level.

(C) people don't want to work as much, decreasing labor supply.

(D) the economy enjoys a period of permanent growth.

10.
In an indifference curve/budget line diagram, a consumer will select the combination of goods that is on the budget line and for which the

(A) marginal rate of substitution between two goods is equal to the relative price of the two goods.

(B) marginal rate of substitution between two goods is greater than the relative price of the two goods.

(C) slope of the indifference curve is less than the relative price of the two goods.

(D) slope of the indifference curve is greater than the relative price of the two goods.

11.
When the inflation rate is zero, the

(A) real interest rate is greater than the nominal interest rate.

(B) real interest rate is less than the nominal interest rate.

(C) nominal interest rate is zero.

(D) real interest rate equals the nominal interest rate.

12.
The average total cost curve eventually slopes upwards because of the

(A) law of diminishing returns.     (B) reductions in average fixed costs.

(C) increase in capital costs.       (D) decrease in labor costs.

13.
A perfectly competitive firm is producing at the point where its marginal cost equals its marginal revenue. If the firm boosts its output, its total revenue will

(A) rise and its total variable cost will rise even more.

(B) rise and its total variable cost will rise, but not by as much.

(C) fall but its total variable cost will rise.

(D) fall and its total variable cost will fall, but not by as much.
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14.
In the above figure, for a single-price monopolist producing at its profit-maximizing equilibrium price and quantity, the price elasticity of demand at this equilibrium will be 

(A) greater than 1 and the monopolist's total revenue is maximized.

(B) less than 1 and the monopolist's economic profit could be larger.

(C) equal to 1 and the monopolist's total revenue is maximized.

(D) greater than 1 and the economic profit is maximized but the total revenue is not.

15.
The area of economic profit shown in the above figure for the single-price monopolist is

(A) bed.    (B) P3P5fc.   (C) 0P5fQ1.     (D) 0P4eQ3.

16.
All of the following characteristics apply to monopolistic competition EXCEPT

(A) a large number of firms compete.

(B) each firm produces the same identical product.

(C) firms compete on product quality, price, and marketing.

(D) there are no barriers to enter or exit the industry.

17.
Monopolistic competition differs from monopoly because in monopolistic competition

(A) firms maximize profits.

(B) firms set marginal revenue equal to marginal cost to maximize profit.

(C) firms are free to enter and exit.

(D) All of the above are differences between monopoly and monopolistically competitive firms.

18.
A duopoly occurs when ________.

(A) there are only two producers of a particular good competing in the same market

(B) there are two producers of two goods competing in an oligopoly market

(C) there are numerous producers of two goods competing in a competitive market

(D) the one producer of two goods sells the goods in a monopoly market

Milkshakes
Sodas
	Quantity
	Total utility
	Quantity
	Total utility

	0
	0
	0
	0

	1
	600
	1
	240

	2
	1000
	2
	360

	3
	1300
	3
	460

	4
	1540
	4
	520

	5
	1590
	5
	570

	6
	1636
	6
	590

	7
	1676
	7
	602

	8
	1708
	8
	610

	9
	1728
	9
	616

	10
	1738
	10
	620


19.
The table above shows Tom's total utility from milkshakes and sodas. Tom's total budget for milkshakes and sodas is $10.00 per week. Milkshakes cost $2.00 each and sodas cost $1.00 each. What combination of milkshakes and sodas maximizes Tom's utility?

(A) 5 milkshakes and 0 sodas   (B) 4 milkshakes and 2 sodas

(C) 3 milkshakes and 4 sodas   (D) 2 milkshakes and 6 sodas

	Quantity (millions of students per year)
	Marginal private benefit (thousands of dollars per student per year)
	Marginal social benefit (thousands of dollars per student per year)
	Marginal private cost and marginal social cost (thousands of dollars per student per year)

	4
	20
	28
	8

	8
	18
	25
	10

	12
	16
	22
	12

	16
	14
	19
	14

	20
	12
	16
	16

	24
	10
	13
	18


20.
The table above shows the marginal costs and marginal benefits of college education. If 8 million students are enrolled, the marginal external benefit is

(A) zero.   (B) $4,000.   (C) $5,000.   (D) $7,000.

21.
Suppose Mail Boxes Etc. buys a new copier for its store for $1000. A year later, when the firm wants to upgrade to a new copier, it finds that the old copier is only worth $750. Over the year the copier was used, ________ has occurred.

(A) replacement investment     (B) gross investment

(C) depreciation              (D) net investment

22.
Of the following, which is correct?

(A) Nominal GDP does not change when the production of goods and services increases.

(B) Nominal GDP is not affected by changes in prices of goods and services.

(C) Nominal GDP increases when the prices of goods and services increase.

(D) Real GDP changes only when the prices of goods and services really change.

23.
The labor force is defined as the number of

(A) people 16 and over.    (B) unemployed people.

(C) people with jobs, both part-time and full-time.

(D) people who are employed and unemployed.

	
	CPI basket quantity
	2003 price
	2011 price

	DVDs
	10 discs
	$16 per disc
	$12 per disc

	Bottled water
	200 bottles
	$1.00 per bottle
	$1.25 per bottle


24.
If 2003 is the reference base period, what is the price index for the CPI basket of goods for 2011 in the above table?

(A) 97.3     (B) 102.8      (C) 128.0    
(D) zero because the price of CDs fell and the price of water increased

25.
Suppose that in 2009 a country has a population of 1 million and real GDP of $1 billion.  In 2010, the population is 1.1 million and the real GDP is $1.1 billion. The real GDP per person growth rate is

(A) $1000.    (B) positive.     (C) negative.     (D) zero.
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